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Partner Quick Quiz






Names:  ____________________________

_____________________________
The school cafeteria has a large cookie jar like the one shown below.
                                          [image: image1.wmf]
The jar is filled with identical sandwich cookies in four different flavors. There are 70 chocolate, 34 lemon, 26 strawberry, and 70 vanilla. Since students cannot see through the cookie jar, they need to reach in and randomly select one cookie when they are allowed to have one.

With your partner, complete the table and answer the questions below.
Express probabilities as percentages to the nearest tenth.
	cookie

flavor
	theoretical

probability
(% to nearest tenth)
	number

drawn
	fraction
(in lowest terms)
	experimental

probability

(% to nearest tenth)

	chocolate
	
	24
	
	

	lemon
	
	14
	
	

	strawberry
	
	8
	
	

	vanilla
	
	18
	
	


1. Are any of the flavors equally likely to be selected? Explain.

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
2. Explain how the law of large numbers relates to this situation.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Partner Quick Quiz - KEY
The school cafeteria has a large cookie jar like the one shown below.

                                          [image: image2.wmf]
The jar is filled with identical sandwich cookies in four different flavors. There are 70 chocolate, 34 lemon, 26 strawberry, and 70 vanilla. Since students cannot see through the cookie jar, they need to reach in and randomly select one cookie when they are allowed to have one.

With your partner, complete the table and answer the questions below.
Express probabilities as percentages to the nearest tenth.
	cookie

flavor
	theoretical

probability

(% to nearest tenth)
	number

drawn
	fraction

(in lowest terms)
	experimental

probability

(% to nearest tenth)

	chocolate
	35%
	24
	3/8
	37.5%

	lemon
	17%
	14
	7/32
	21.9%

	strawberry
	13%
	8
	1/8
	12.5%

	vanilla
	35%
	18
	9/32
	28.1%


1. Are any of the flavors equally likely to be selected? Explain.

Chocolate and vanilla are equally likely because they both have a theoretical probability of 35%.

2. Explain how the Law of Large Numbers relates to this situation. 

The experimental and theoretical probabilities do not have the same percentages. Most are similar. If we continued to watch and record many more cookie selections, the experimental probabilities should approach the values of the theoretical probabilities.
